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CERTIFICATE IN WATER HARVESTING 
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June, 2013 

ONR-002 : BASICS OF HYDROLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 

marks. 

	

1. 	(a) What do you understand by word 2+3 
precipitation ? List the different conditions 
required for precipitation formation. 

(b) Rainfall - Intensity - Duration relationship 	2 

is required for what purpose ? 

(c) Write the general formula of rainfall 	3 

intensity - duration - frequency relationship 
with its different components. 

	

2. 	(a) Write short notes on the following : 	5x1=5 

(i) Time of concentration 

(ii) Rainfall excess 

(iii) Transpiration 

(iv) Runoff 

(v) Soil moisture 
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(b) Define infiltration and name the instrument 1+1 

used to measure it. 

(c) Differentiate between Basic infiltration rate 	3 
and infiltration capacity. 

	

3. 	(a) What do you understand by water budget ? 	2 
(b) Differentiate between influent and effluent 	3 

stream with the help of neat sketch. 
(c) What do you understand by evaporation ? 2+3 

How you can measure the reference crop 

evapotranspiration based on climate data ? 

	

4. 	(a) Determine the crop evapotranspiration 	5 
when reference crop evapotranspiration 

during the month of May was 12 mm the 

crop coefficient during the period was 0.8. 

(b) Explain warm and cold front with the help 	5 
of schematic diagrams. 

5. 	(a) Differentiate between recording and 	3 
non-recording type rain gauge. 

(b) What are the limitations of arithmetic mean 	2 
method ? 

(c) List the assumptions on which rational 	3 
method for estimation of peak runoff rate is 
developed. 

(d) Calculate the time of concentration for a 	2 
watershed having maximum flow path is 

2000 m with average slop of 3%. 
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6. (a) Define water pollution. Differentiate 2+3 

between natural and artificial source of 

pollution. 

(b) What are the main physical characteristics 2+3 

of water ? Explain two in detail. 

7. (a) What do you understand by drinking water 3+2 

quality ? Give the desirable tolerable range 

of pH and nitrate in drinking water given 

by WHO/BIS. 

(b) A water sample of 50 ml was collected from 	5 

a river in a dish. The water was evaporated 

and weight of dish and residue was taken. 

The weight of empty dish as well as weight 

of dish with residue was 105.1 g and 

105.8 g, respectively. Determine the total 

solids per unit volume. 

8. (a) What is the importance of safe drinking 3+2 

water ? List two important hygienic 

practices to ensure safe drinking water. 

(b) Write full form of the following : 	1/2x4=2 

(i) WHO 

(ii) BIS 

(iii) PET 

(iv) NTU 
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(c) Write answer in one word : 	 3x1=3 

(i) Waste derived from living organism. 

(ii) Most important form of precipitation. 

(iii) Line joining the points of equal rainfall 
magnitude. 
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3. 	(a) 	AO 4qa 3-1114 ofq 7:F1=F 	 2 

(b) at:517Tt q17T 	t .f6-:1;1-4Tef BTU 	atd7 '41, 	3 
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8. 	(a) 	Tf.T-d 	,3-10 	117. 	t? 	c -kz1 \ric-f 3+2 
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TO WffqR I 

(b) 	F-IHFrirt.1d 	ffffuR : 	 1/2x4=2 

(i)  

(ii)  

(iv) 	 
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(c) 31-9-9-r 	-qr- 	: 
	 3x1=3 

(i) 	71--4u -tq 	3Tcftra 

31-a -crur 

atfi 4R4-Hul (magnitude) ifqSA 

,315 -41-A- 'tUT 
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